CHEMiSTRY o
)
Wh1ch of the followmg is not an ore of magnesmm ?. .
1) Carnalhte ' : ) Dolom1te
-'3) - Calamine .~ 4) Seawater

The atomic numbers of Ni and Cu.are 28 and 29 respect1vely The electron conﬁguratmn

152 252 2.p° 85” 3p 3d10 represents -
1) Cu L 2) Cu®
3 NQ(e A . 4 Ni

In the followmg, the element with the hlghest 1on1sat10n energy is

1) [Ne]3s? 3'p. ,, 9 [Ne]3s 3p°

3) [Ne]3s?3p® - 4) [Ne]3s23p*

1 &-

In thevconversion of sz’to BrO; , the oxidation number. of Br changes from

1) zeroto+5 ' 2) +1_to‘+_5
3) zeroto B o -_" f - 4) +2_to+‘5

- Among the alkah metals ces1um is the most react1ve because

1) its 1ncomplete shell i is nearest to the nucleus

- 2) ithas a single electron in the valence shell :
1 3). it i is the heaviest alkall metal

4) the outermost electron is more loosely bound than the outermost electron of the

, other alkah metals.
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1) IN = Nx} : et '-2) = N
BN - N 9N - N
7. Hydrogen bor_1d 1s strongest in o
1) S-H - 0] - 2) O-H---8
3) F—H---F 4 O-H--- N

8 The decomposmon of a certain mass of CaCO ‘gave 11 2 dm of CO gas at STP The mass_
of KOH required to completely neutralise the gas is ' : :

1) 56g ‘ L 2) 28g-
3)42g-'. 7. U '4)20g.

.
e

9 The dens1ty of a gas is1.964 g dm‘3 at 273 k and 76 cm Hg The gas is -
1) CH, - 3 2 CH, o
3) co, R b Xe

10. - 0.06 mole of KNO solid is added to. 100 cm® of water at 298 k. The enthalpy of KNO
'.solutlon is 35 8 kJmol 1 After the solute is dissolved the temperature of the solutlon W111 be -

1) 293k - ' L 2) 298k_.b
C®sik . 4y g0k
,(_S[’);ace for Rough Work)' >
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11. 4 moles each of SO, and O gases are allowed to react to form SO, in a'closed ves/sel At
o equlhbnum 25 % of 0, is used up The total number of moles of all the gases present at

equilibrium is ‘ o : 4 ¢ '
1) 657 L 970
».80 - 920

N

12. An example for autocataly51s is -
© 1) oxidation of NO to NO,
| f 2) ox1dat10n of SO, to SO
.3 - decomposmon of KClO to KCl and 0,
4 omdatlon of oxahc ac1d by ac1d1ﬁed KM nO

. 13. 4 Durmg the fusion of an' orgamc compound W1th sodlum metal mtrogen of the compound is

converted into .- £\ _ :
oy NaNO, Wi 9. Nq‘NHé
"8 NaCN -, 4 NaNC-

14 'Identlfy the product Yin the followmg reactlon sequence

I CHZ'—CH‘z—coo .‘
{ b \ ' heat

\ Y&
T . B _ it Zn-Hg
b S /.C“ X —HCI, heat
CHZ'—CHzr—COO L
1) pentane e - 9) cyclobutane
.3) cyclopentane '_ - 4) ‘CYCIOpentanone

15. _’I‘he reactlon CZH 50Na + C2H 5I > CoH 5OC2H 5 +NaI is known as .

1) Kolbe’s synthesis - : 2) Wurtz’s synthes1s
3) Williamson’s synthesis 4) Grignard’s synthesis
E ({Space for Rough Work)
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16.
17.

- 18.

19,

20,

L e e T A

' G° Vs T plot in the Elhngham S dlagram slopes downward: for the reaction

| 3) C+1O2—>CO Sy (10+—02-+co2

Whlch of the followmg reactlon taklng place in the Blast fur nace is endothermlc ?
1 CaCO3—>CaO+002 R 2} 2C+02-—>2CO
- 3) C+02 —>002 o 4) Fe203 +300—>2Fe+3002

' L1quor ammoma bottles are opened only after coohng Thls is because

1) iti isa mild explosive -~ 2) itis a corrosive liquid-
0 3) iti s a lachrymatory Cot o 4) it generates hlgh vapour pressure
The formation of 02+ [Pt Fg] is the basis for th_e fof'mation of Xenon fluorides. This is because
) 0, and Xe have comparable sizes |
2). both O and Xe are gases

3).-0, and Xe have: comparable 1on1sat10n energ1es

4 O, and Xe have comparable electronegat1v1t1es
The h1ghest magnetlc moment is shown by the transmon metal ion w1th the conﬁguratlon
Dosar o Ty 3d5

I T, v 34°
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21. *A trans1t10n metal ion exists in its hlghest omdatlon'state It is expected to behave as
1) achelating agent ‘ 2) a central metal in a coordmatlon compound
3) an ox1d1smg agent v 4) a reducmg agent '
22, In Wthh of the followmg cornplex ion, the central metal ionisina state of sp3d2 hybndlsatlon ?
<z. .[C0F6]3 e e 2) [Co(NH3) ] T
- 3) [Fe(CN) :l . | . 4), [Cr(NHg) :| >
23. Which of the followmg can part1c1pate in 11nkage 1somer1sm ‘7 o T
D Noy o s D H2NCHZCH2NH2 .
3 HO . Y NH; o
24. Whlch of the followmg has the hlghest bond order.?" a
1) N v N2 0,
3) He, B 7, QN
25. Which of the following is dianaagnetic ? ' '
om0 2 0
N 5 Hey'
(Space for Rough Work) ’
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28,

29,

8 . . aa

-Thé concentration of a_ reactaht X d_ecreaséé fro’m’O'.‘l M to '()'*.025«‘M in 40 minutes. If thé

26.

' reaction follows I order kinetics, the rate of the reaction when the concentration of X is
00IMwillbe | R | | B
D 1.73x 107 M miin™ - o 2) 37 x10* M min~!

(3 347x100Mmint ) 173x10% M min?
27.. V Chémical féac_tions With:\}ery high & values-are generally 3
K very fast L 2) very slow
~ 3) moderately fast R 4) spontaneous - .
Whivch. of the following does not éonducf electricity ? ‘
D fusedNeCl' = " 9) ‘solid NaCl
- 3) .brine 'so‘l-ut'io_n : - - 4). Copper
When a quantity of eléctricity is passed-through CuSO‘i“ solution, 0.16 g of Coppéf gets .
deposited. If the same quantity of electricity is passed through acidulated water, then the ‘
volume of H_2 liberated at STP will be [Given At.Wt. Cy = 64] N -
Di40em® - 12) 56.cm?
3 604cm® - 4) g0em® )
-30.  Solubility product of a salt AB is’ 1x10°® M2 in a solution in 'Which_‘thé conéentra’tion of A*
~ ions is 10~ M. The salt will precipitate when the concentration of B~ ions is kept '
" 1)° between'10~8 M to 10~ M “2) between 10" M to 105 M
WML g caotm '
b | (Space Iforj Rough-Work)
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3L Which one of the followmg condltlon will 1ncrease the voltage of the cell represented by the . .

“equation : Cu) + 2Ag ag = = Cu?taq " 2Ag(s)
1) 1ncrease in the dlmensmns of Cu electrode
2) increase in: the d1rnensxons of Ag electrode
_3) increase in the concentratmn of Cu?* 1ons
f’4) increase in the concentratlon of Ag+ ions
32. The pH of 10-* M HCI solution is - PR
1)  2) ‘morethan8

B 3) between6and 7 . ‘ 4) shghtly more than7

33._ The mass of glucose that should be dissolved in'50 g of water in order to produce the sameé -
- lowering of vapour pressure as'is produced by d1ssolv1ng lg of urea in the same quantlty of

'water1s 4 - - '
SRR L
3 6g 4 188"

' 34. - Osmotic pressure observed when benzmc aC1d is dissolved in. be
expected from theoretical considerations. Tlus is because

1) benz01c ac1d is an organic solute :

. 2) benzoic acid has higher molar mass than benzene L
3) benzoic acid gets associated in benzene . .= <

- 4) benz01c acid gets d155001ated in benzene

.- 35. Fora reactlon to be spontaneous at all temperatures

e
7z

nzene is less than that

- 1) AG and AH should be negat1ve -2). AG and A H should be p051t1ve

3) AG = AS = 9 aH<AG
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36,

317.

- 39.

g0 Aa

‘.Wh1ch of the followmg electrolyte Wlll have maximum floce ulatlon value for Fe(OH) sol. 7.

1) NaCl S 2 NoS
3 WH),PO, 4) K,S0,

For a re;reraible reacti'on : X( )t 3Y( ) = 2Z(g)

" AH =-40kJ the standard entrop1es of X, ¥ and Z are 60, 40 and 50 JK ! mol? respectively.

The temperature at which the above react1on attams equ1l1br1um is about

1) 400K : LT 2) 5OOK '
3 218K ’ | . 4 313K
38. The rad11 of Na and Cl ions are 95 pm and 181 pm respect1vely The edge length of NaCl
* unit cell is , b ;
1) 276 pm B 2 138pm L
3) 552pm : o 4) 415 pm
Inductive effect ‘involves B\, _ | ) .
" 1) displac,emvent'of o electrons - 2) delocalisation of 7 electrons
3). delocaliSation of & electrons _ 4) displacement of 7 electrons
40. The bas1c1ty of aniline is léss than that of cyclohexylamme Tlus 1s due to
1) + R effect of - NH group - - ~2) —Ieffect of - NH, group
3) ~R effect of — NH, group. i 4) hyperconJugatmn effect
o (Space for Rough Work)
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. 41. .+ Methyl brormde is converted into ethane by heatlng 1t in ether mednim 'Wi'th - L
| va . D In |
3) Na I 4) Cu

42.< Which of the followmg compound is expected to be optlcally active 7
1 (CHs),CH CHO B CH3CHQCH20HO -
3) CH3CH20HBr CHO S 4) CHgCHzCBrZCHO

43. Whlch cycloalkane has the lowest heat of combustion per CH 9 group 2

1) cyclopropane ' _ -~ 2) cyclobutane

3) cyclopentane' \ ! 4) cyclohexane

‘44, The catalyst used in the preparatlon of an alkyl chlorlde by the actlon ot' dry H Cl on an .

alcohol is : _
1) anhydrousAlCl Wl 2 _FeCl3' -
3) anhydrousZnCl, 4)- Cu

45. nIn the reaction.

alcoholzc dLlute

the product B is . . o ' '
C 1) alkyl chloride : - 2) aldehyde:
3) carboxylic acid - '4) ketone - e ot 4%
(Space for Rough Work) '
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Which of the followmg compound would not. evolve CO When treated with NaH Co, solution ?

1) sahcyhc acid: B ) phenol
3) benz01c ac1d - ) 4 nltro benzoic acid X
47. By heatmg phenol with chloroform in alkah it is converted into |
1) salicylic acid” ; - 2). sahcylaldehyde »
3) an1sole U L T 4) phenyl benzoate .
48. When a mixture of calcium benzoate and calc1um acetate 1s dr dlstllled the resultlng
,‘compound is _, T . o
1) acetophenone o feso T 2) benzaldehyde &
3)' benzophenone_ ' o : 4) acetaldehyde |
49 Whlch of the followmg does not glve benz01c aC1d on hydrolys1s ?’
- 1) phenyl cyanide.. - .- 2) benzoyl chlonde
_ 3) benzyl chloride 5 _'7 4) . methyl benzoate J
- 50. Whlch of the followmg would undergo Hoffmann reactlon to g1ve a pnmary amine ?.
0
1) R-C-Cl e = 2) RCONHCH3 o - ¢
3) .RCONH, 4 'RCOOR. - o
(Space for Rough Work)
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' 51,\5._G1ucose contams in addltlon to aldehyde group
v " '1) one secondary OH and four primary OH groups '
. 2) oneprimary. OH and four secondary OH groups
' . .3) two primary OH and three secondary OH groups
- 4) three prlmary OH and two secondary OH groups o

52. ‘A dlstmctwe and characterlstlc funct10na1 group of fats i is :
1) a peptide group - .' L2 an ester group
~8) an alcoholic group C ' 4) aketonic group
. 53. At pH 4 glycme emsts as - o | |
oD HgNFCHQ—COO* L2 HgN'CHQ COOH
P o -
3) H2N CH2 COOH ETY 4) H2N CH2 COO' _

. 54. Insulin regulates the. metabohsm of o
- 1) minerals - - g | -2) amino acids "
3) glucose ' WA 4) vitamins

55. The formula mass of Mohr’s saltis 392. The i iron present initis ox1d1sed by KM nO, in ac1d .
~ medium. The equlvalent mass of Mohr’s salt is :

1392 - 9 316 - - o
3) 278 . . R .
‘ .;,’ L ; "’_(S:paCe for Rough Work)
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56. The brown ring test for nitrates depends on
1) thereduction of nitrate to nitric oxide
© 2) oxidation of nitric oxide to nitrogen dioxide =
3) ‘reduction of ferrous suiphat_;e toiron -
~ 4) oxidising acﬁoxi of sulphuric acid

57, Acrolein test is positive for . o
1) polysaccharides - :' 2) proteins -
-3) oils and fats = : - 4) reducing sugars
58. An organic compound which produces a bluish green coloured flame on heating in presence
of copper is A : ‘ L e 5 ' ‘
1) chlorobenzene .- o | . 2) berizaldghy‘d_e
3) é.niline Y ~ 4) benzoic acid
59.. For a reaction A+ Bv'_>C +D if the concentration of A is doubled without altering the
concentration of B, the rate gets doubled. If the concentration of B is increased by
‘nine times without altering the concentration of A, the rate gets tripled. The order of
_the reaction is A €. ' N :

R

60. Which of the following sélutiohsfwill _exHibit highest boiling point ? -
.1 001MNaSO, 9) 0.01 M.KNO, .

(eq) © Y(ag)

| 3) 0.015 M urea L e 0‘5015, M glucose(aq)
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